Question 1a
[image: ]
Question 1b
[image: ]
Question 2a
[image: ]
Question 2b
[image: ]
Question 2c
[image: ]
Question 3
[image: ]
Question 4a
[image: ]
Question 4b
[image: ]
Question 5
[image: ]
Question 6
[image: ]
Question 7
[image: ]
Question 8a
[image: ]
Question 8b
[image: ]
Question 9
[image: ]
Question 10
[image: ] 

image6.png
By writing 1 = log, @, show that

HS:
1+ 2log, b+3log, ¢ = log, ab®c?. U
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(a) Write the following as a single logarithm

2 ln'+3]u‘ - ln'
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(a) Write the following as a single logarithm
21l0g,6+3log, 2 — log, 4
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(b) Write the following in the fom. where a and b are integers to be found.
(@3t +n3 -9
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‘The diagram below shows the length of three sides of a triangle, with each side
measured in centimetres.
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Work out th- of the triangle, giving your answer in the for! where b is
an integer to be found.
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Solve the equation

log,(2x—1) =2.
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Show that

2Inx* = 3Inx? = 0.
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(a) Solve the equation

5% -25=0
a) Rewnle 25 as a paperof5°
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(b) Solve the equation 511 -5 =Q
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(a) Solve the equation

52 -25=0
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(b) Solve the equation
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() On the same axes, sketch the graphs of n y
Label any points of intersection between each graph and the coordinate axes. e (j ="
Write down the cquations of any asymptotes. J

(ii) Write down the equation of the line of reflection between the graphs of y = ¢* and
y=e*
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Solve the equation

Ing;(S,F—é)ZZ. Dtl: B—r,g
13 x?>=5x+6=0
x b
+-5
(x-2)(x~2)=0 -3-2
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(a) Evaluate

ln. + lni - l.)
121
(b) Evaluate

3In2+3In81-2In3,
giving your answer in the form Ing, where ¢ is an integer to be found.
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(a) Evaluate

k
log, 4 + log; 27 — log, 4. b) fewriie (Q%Uo\ﬁ 5 (uoes u\y> ktﬂgm [03 -4
121
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(b) Evaluate ny + \y\m -3
3In2+1In81-2In3, q
3In2+3me1-2 = + Wn
giving your answer in the fum. where g is an integer to be found.
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Solve the following equations, giving your answers in exact form

@er=s
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(b)3e2* =9
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(c) et =4
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Solve the following equations, giving your answers in exact form

(@e*=5

E) elac -2 ‘lﬂjaz - an‘x.
e wd- 13 J
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Solve the following equations, giving your answers in exact form.

(@e*=5

(b)3e> =9

@eri=y
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